
［1回戦／1月18日］ 1P 2P 3P 計
苫小牧 6 7 5 ＝ 18
作新学院 0 0 1 ＝ 1

［1回戦／1月18日］ 1P 2P 3P 計
苫小牧工業 10 10 16 ＝ 36
宇都宮学園 0 1 0 ＝ 1

［2回戦／1月18日］ 1P 2P 3P 計
盛岡第一 2 2 9 ＝ 13
成城学園 2 2 0 ＝ 4

［2回戦／1月18日］ 1P 2P 3P 計
八戸商業
早稲田

［2回戦／1月19日］ 1P 2P 3P 計
八戸 2 2 1 ＝ 5
苫小牧工業 0 2 1 ＝ 3

［2回戦／1月19日］ 1P 2P 3P 計
苫小牧 8 7 3 ＝ 18
日光 0 0 0 ＝ 0

［準決勝／1月19日］ 1P 2P 3P 計
八戸 3 3 4 ＝ 10
盛岡第一 0 1 1 ＝ 2

［準決勝／1月19日］ 1P 2P 3P 計
苫小牧 3 3 1 ＝ 7
八戸商業 0 0 0 ＝ 0

［3位決定戦／1月20日］ 1P 2P 3P 計
八戸商業 0 3 3 ＝ 6
盛岡第一 0 2 2 ＝ 4

［決勝／1月20日］ 1P 2P 3P 計
苫小牧 2 3 4 ＝ 9
八戸 0 2 3 ＝ 5
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